
Övningsuppgifter	
  i	
  Matematik	
  4	
  
	
  
Integraler,	
  differentialekvationer	
  och	
  primitiva	
  funktioner	
  
	
  
Uppgifterna	
  är	
  tagna	
  från	
  NP	
  Ma	
  D	
  vt	
  2005.	
  
	
  

	
  	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  

	
  
	
  



	
  

	
  
	
  
	
  



	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Facit	
  
	
  
	
  
1.	
  20/3	
  
	
  
	
  
3.	
  C	
  och	
  F	
  
	
  

7.	
  Antalet	
  starar	
  har	
  sedan	
  år	
  1979	
  minskat	
  med	
  3	
  %	
  per	
  år	
  av	
  det	
  aktuella	
  antalet.	
  

	
  

9.	
  Använd	
  först	
  figuren	
  till	
  att	
  bestämma	
  𝐹 𝑥 =    !
!
𝑥 − 2.	
  Detta	
  är	
  en	
  primitiv	
  funktion	
  

till	
  f,	
  så	
  	
   𝑓 𝑥 𝑑𝑥 =    !
!
𝑥 − 2

!

!!
! = 3.	
  

	
  

11.	
  36	
  

	
  

15.	
  a)	
  𝑓 𝑥 =   0,050 sin(10𝜋𝑥)	
  

b)	
  𝑓! 𝑥 =   0,5𝜋 cos(10𝜋𝑥)	
  så	
  den	
  plana	
  plåtens	
  längd	
  ges	
  av	
  integralen	
  

1+   (0,5𝜋 cos 10𝜋𝑥 )!  𝑑𝑥
!

!

	
  

Denna	
  integral	
  vet	
  vi	
  inte	
  hur	
  man	
  beräknar	
  exakt,	
  så	
  vi	
  använder	
  t.ex.	
  GeoGebra:	
  

Integral[sqrt(1+(0.5π*cos(10π*x))^2),	
  0,	
  5]	
  ≈	
  7.3	
  

Svar:	
  7,3	
  m	
  

	
  

	
  

	
  

	
  

	
  

	
  



17.	
  

	
  

	
  


